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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry
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Salary of a person will increase by
20% then again increased by 12-;—% and

then decrease by 16%% and find net %
effect on his salary? &l =afFa

el 20% @@l R 127% @M iR R

16= % W Il 3R 39 A9T W Ay
% UHTT 9397

(@) 12 - % dec (b) 2— % dec

() 12> % inc (d) 3—=% dec.
(e) None of these



PERCENTAGE (Successive Change) MATHS WITH SACHIN BALIYAN SIR

If a Number first increased by 25% then
again increased by 12 % % then again

increased by 20% and final decrease by 7%
%. find net percentage effect on that

number? I TS UHF WEAT A 25% H JgW
gé ar R 12;% #r gafr g 3k R 20% A
geftr g Ik sifew & 7° % # w+ wd 3w
HEAT W Yy gfaerd yema A HSA?

(@) 52 = % inc (b) 42 — % dec

(c) 56 = % inc (d) 43—% dec.
(e) None of these
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if Price of the article is increased by 25%

and is consumption decrease by 14; %
then find net effect on its expenditure?

uﬁwmﬁﬁmﬁzs%ﬁ{cﬁgﬁt
mmau-%aﬁmmt ar 38&
mwmmmﬁ?

(@) 2 = ~ % inc (b) 2 E% dec

(c) 7 ; % inc ) 31—‘2% dec.

(e) None of these



PERCENTAGE (Successive Change) MATHS WITH SACHIN BALIYAN SIR

if Sale of the cinema tickets will
increase by 157 ; % when its price

decreased by 16%% . find net % effect
on its revenue of the cinema hall? I

MMﬁMﬁ1s7‘%ﬁm

MmMﬁW#W%aﬁ‘tmg
ﬁhﬁﬁmmtmwmam

L EIEC ] ﬁ!awm
(@) 102 = % inc (b) 52 — % dec
(c) 114 = % inc (d)203— % dec.

(e) None of these
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If lapgth of a rectangle is increased by

b‘j‘,;ﬁ\ 6\\3 B @ hile its breadth also increased by

find the net effect onithe area&of
the rectangle? IE Igd HT F€E 37 % ¥C

2\ It 8, Safe sudr 9isg ot 20% nsmﬂ
/@ ' g, A ITT F 8T W YSY % T urT §7
S/ ° a) 65% inc (b) 42— % dec
(c) 22% % inc (d) 65% dec.

(e) None of these

N

*‘"Swl\/\ \<
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If mof cylinder increased b
& height decreased by
= .

the % change in volume?

+ |
L6 . 7 e & B 162% @@ sk
R /gl 25% FA §EI F¥aA A% IRac | A
A

fASA?
(@) 2 = % inc (b) 2 — % dec

2 —%inc  (d) 3 = % deg.
— (e) None of these

"
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F |
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The radius of sphe@ is increased

. What is the net
+ increase in the surface area? M«

|
@{ﬁ /@ # s 12 1% 3¢ i §1 waw A

3% geit 4T 87
9
J6) 26 %
(9) 22;%
(e)None of these
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If price of petrol is(increase\by

then how much percent consuniption
must be rediced so that expenditure

remains same. I Yed & AT A

222% #1 g @l ¥ ar Reaer wfwa

mmﬁmaﬂvaﬁmm
AT B

(@) 20%

& 18=% . (d) 15%
(e) None of these /l—/\ ‘
i \

. ‘ y

2
(b) 22> %
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(@) 12 — % inc (5) 20(=/% dec
22 — % ing (d) 15 %~ dec.
(e) None of these S ~ PG
3. 2

™

it the radius of cone increased by (12 %%

then how much percent its height should be
decreased or increased SO that volume
remains the  same? 3T UAF N =T 12

g%nmta&mmmmm
qT qe«1 AT difeh ATId THA IR?
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- |

£ = 47 T H
@:__%;g‘%%‘s

— i |

If the price of sugar is increased by

32% by how _inuch percent should
family decréase its con@ptlon if

family afford only 10% more expense
than before? I " 32%
Te| | IR IRAR gge A A=A
# Haa 10% HOF @T @ ¢, @ TRAR
F ZHH WIS A aa giaua v A
HTAT FAMRT?
(a) 12.5% (5) 16.67%
(c) 20% - (d)22% J)/

(e)None o\fthje
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if the Price of the sugar will decrease

by 6 % so a family start consuming 60

k sugar than before this way
total expenditure on sugar will increase

by 25% . then find original consumption
also find current consumption? I

O ih:hq‘»’rm*s%aﬁrmm ar E

qRER 60 Pret aftrs N w1 T W
ammam mm#mqrmﬂ

25%namma‘rmm3ﬁtaémﬂ
@Ud FT TaT SqMT?

(@) 150 kg (b) 140 kg

(c) 240 kg (d) 180 kg

(e)None of thev L
ZVia

065@
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When price of rice is increased by 12%% a

family reduced its consumption in such a
way that expenditure of rice only 5% more
than before. If 30 kg was consumed per
month before . Find the new consumption

of rice. I araw # Fwa A 127 % A g
taiwwﬂm#m'aﬁmm’rwm

(a) 20 kg (b) 22 kg (c) 18 kg
(d) 28 kg (e) None of these



